
�����������
	����
�������
�������������
��! #"$��&%('
)�*,+�-/.
0�13254368794573:;7�<#= 7>�?!@BA5CD?8EB@3F E?/A5GHAI@3F AJ @IKIL�EBMON

P AIQBMREDSTLUA/VWEBMXF A5YWKJOZ�[(\3] G3S^V^A Z�_`\ M ]B[ M�AIL ]
Z Eba^N c ?/A5C ]
Z AI@BAdY�A/V Ze]BfhgJOZ S
QiAIj FlkmHn Y�A/V Z EBopY�A/V Z EBof MRE
G;@3F ] ViMbK5G;@5EBoViMbK5G;@5EBo mHn ViMbK5G;@5E/N
q AIQDS _ LUAIj @BAj F CD? m A \ KI@IQirVWs Z c ?/A5C ]
Z AI@ _CD?/A/S \3] ViMt?8E m @ _@BAuM ] ? Z F v/?/AI@3F EJOZ LTF @ n N

wUx3y�® {H|_^#��{H| < ² � �5� �   � � � §�� � � Ò ®��*���0O-5����4573:;7�<#= 7
% � �`���#� ¢ ¡ �´ �� �i� �`w �i� �B��� � � ¡ � � ºH�5�d ����B�H� � �^�9q9� ¡p� �Hµ �#� �^�õ�Ö�; �� � ¤ � �H¢¬�H�
�rq��U�H¤# �¢(©5µ5� �/¡p�5�  ¨� � �� ��/�B����H¤��9¢(©5µ5� �/¡p�5��¡ Å �X� �5�i� ���\s �5¢�t  z Ì#Ì � G Ì $ ú ±���H¤��9� � �� ��/� ¡ Å �X� �5�i� ���us �5¢�t  z Ì#Ì � G Ì $ ³��p�� �i�/¡ �i¢�§3�DºH� �#�5� �H� � � �  O�a�Üwv q°�U�H¤��9¢(©5µ5� �/¡p�5��¡ ±Üyx q¬�U�H¤��9� � �� ��/� ¡ ±z v q¬� �5�i� ���d¢(©5µ5� �/¡p�5��¡ ±z x q¬� �5�i� ���d� � �� ��/� ¡ �% �� �� �����#� ¢ ¡ �U�H¤# ÿ���O��¢(©5µ5� �/¡p�5�  ,� � �� ��/� � �H� �i� � �#��� �U� � ��� �i� � � �´ �� �i� �¯w �i� �B� � �¯� � ¢ � �Bº�� ¡ ¢�� � ��  �¾��I�Hµ5���5¤ �(���  ��
��� ¡p�5� �H� � z v �#� � � z x �ê�*#+�ëp:�-Iì ëBí´-U0Oë#4
íT= î3457�<#= -Tïlð^-5ñ/-Iì =!= òh.
<#= -Wðhîó0Oô#ñ3<3-õò8ö#ë#ò�ë�÷/1ó0Oë#4
íT= î3457�<#= 7$.hë�öI0O481�<I7�ðDø`<#= -Wðe6
ë�ød-I<!.�7I0O4�í�.h-Wðe68í´-5òh.D= = ù
[;¡ ¢�� � �� �� �5��¡°� �� �� ���#� ¢Üwv Å �{z v  z Ì#Ì � G Ì $ ú �#� � � Üyx Å �{z x  z Ì#Ì � G Ì $ ³��p�HÉ�H¢ ¡Üwv ÅÞÌ $ ú z v  ú Ì �#� � � Üyx ÅÞÌ $ ³���z x  ³��p�[ �
ºH�z v Å v*|~}o�S���� � �#� � � z x Å v@��}o�S���� �S� �û *�ü�2Iý3-Iø�7!.½ëp25-I<#= 7�<#= 7z������ � �9§����
�H��� �  ���� �5�#� § � � Üwvz������ � �9§����
�H��� �  ���� �5�#� § � � Üyxz������ � ��� ¡p�5� �H� � � �  ��uz vz������ � ��� ¡p�5� �H� � � �  ��uz x

� *
	e0Oë�ö#ë#48132Wð^-¯í$1�6
ë�0O4813òh.�7�<#= 7 ï�<I7�ì -I6
2Wði=��$öI0X732B7u:�ë�ødëBíõ7
��4573:;7�<#= -¬:�ëp:;7!.
6
ëBí´-���4573:;7�<#= -Éö#ëBí$.hô�0 6
ëBí´-���öI0X732B7òi7�ødëp:�4!= -Iì <I7
� ø�7!.h-I0�= 7��b1�:�ëu+����������h7¯= .
öp* ù� �¯���5�H�^�i  ± � �H�¨� �  ���� � �¨�I�D� � ���H±�� � �H�B�¯�D�H¢ � � �  ��5� � �


